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Question 1

The boundary value of 4 h is included, so the correct answer is t ≤ 4.

The correct choice is B.
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Question 2
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The boundary value of –1 is included due to the closed circle on the number line. The correct answer is x ≥ –1.

The correct choice is D.
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Question 3

Isolate the variable in the inequality.

      y – 2 ≥ – 4

y – 2 + 2 ≥ – 4 + 2

            y ≥ –2

The only value in the list that is not larger than or equal to –2 is –6.

The correct choice is A.
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Question 4

Isolate the variable in the inequality.
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The correct choice is B.
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Question 5

Isolate the variable in the inequality.

       5(x – 3) ≤ 2x + 3

        5x – 15 ≤ 2x + 3

5x – 15 – 2x ≤ 2x + 3 – 2x

        3x – 15 ≤ 3

3x – 15 + 15 ≤ 3 + 15

                3x ≤ 18

               
[image: image2.wmf]3

18

3

3

£

x


                  x ≤ 6

The correct choice is C.
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Question 6

The number line representing the inequality x < 5 would have an OPEN circle at 5 and an arrow pointing to the LEFT.
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Question 7

Isolate the variable.

 –4x < 16
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       x > – 4

The solution to – 4x < 16 is that x is greater than –4.
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Question 8

a)  –3 < x
Draw an open circle at the boundary value of –3, and then extend an arrow to the right.




b)  x ≤ 6.8

Draw a closed circle at the boundary value of 6.8. Then, construct an arrow to the left.
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Question 9

Isolate the variable in the inequality.

      8 – 5x < 23

8 – 5x – 8 < 23 – 8 

          –5x < 15

       
[image: image4.wmf]5

15

5

5

-

>

-

-

x


              x > –3

The solution provided in the question, x > –3, is correct.
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Question 10

a)  Let h represent the pilot’s height. 

The restriction on height can be expressed as h < 185.

b)  Let a represent the pilot’s age.

The restriction on the age of the pilot can be expressed as a ≥ 21.  
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Question 11

a)  Isolate the variable.

      –6 + x ≥ 10

–6 + x + 6 ≥ 10 + 6

              x ≥ 16

Graph the solution by placing a closed circle at the boundary value of 16. Extend the arrow representing the solution to the right on the number line.


b)  Isolate the variable.

        2.4x – 11 > 4.6

2.4x – 11 + 11 > 4.6 + 11

                 2.4x > 15.6
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                      x > 6.5

Graph the solution by placing an open circle at the boundary value of 6.5. Extend the arrow representing the solution to the right on the number line.




c)  Isolate the variable.

        12 – 8x < 17 – 6x
12 – 8x + 8x < 17 – 6x+ 8x
                12 < 17 + 2x
        12 – 17 < 17 + 2x – 17 

                –5 < 2x
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             –2.5 < x

Graph the solution by placing an open circle at the boundary value of –2.5. Extend the arrow representing the solution to the right on the number line.
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Question 12

a)  Let x represent the number of items sold. Then, the inequality that models his earnings is 4.75x > 50.  
b)  Let p represent the number of pairs of mitts. Then, the inequality that models the number of pairs onto which she can sew beads is 3p ≤ 40.
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Question 13

a)  Isolate the variable.

        6x – 4 > 9x + 20

6x – 4 – 6x > 9x + 20 – 6x

             – 4 > 3x + 20

     – 4 – 20 > 3x + 20 – 20

            –24 > 3x
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              –8 > x
b)  Draw an open circle at the boundary value of –8. Draw an arrow extending to the left of the boundary value.




c)  Any value less than –8 is a solution, such as –10. Any value greater than or equal to 

–8 is a non-solution such as 0.

d)  Min’s method does not involve dividing both sides of the inequality by a negative number; therefore, the direction of the inequality will not need to be reversed. Min’s method is displayed above for part a).
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Question 14

Let n represent the number of shirts that are to be ordered.

The expression that models the cost to order n shirts from Pro-V Graphics is 7n + 75. The expression that models the cost to purchase n shirts from BT Designs is 10.5n.

The inequality that models the number of shirts that would make Pro-V Graphics a better option is 7n + 75 < 10.5n.

Solve the inequality by isolating the variable.

        7n + 75 < 10.5n

7n + 75 – 7n < 10.5n – 7n
                75 < 3.5n
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Pro-V Graphics will be a better option when more than 21 shirts are ordered.
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Question 15

Let f represent the entrance fee for each team. The inequality that will model the cost of the tournament is 14f > 115 × 6.

Solve the inequality.

   14f > 115 × 6

   14f > 690
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Dylan must charge each team an entrance fee of at least $49.29 in order to make a profit.
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